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Important HTET Quantitative Aptitude Question and Answers with Solution

Q1. UF a3 #&T 6 7 farwrs g1 a1, _wfortera & & #i=-ar
FAT I A9 GEAT o AT H HIAT ALl Al gRIT?

(a) T8 36 A fAaTST ¢

(b) THHT THA 6 & AT B

(c) THFT T 3 7 oS 8

()T 24T AT B

Q2. FMeferfera & & I=-HT HeaT 3 ¥ 4 741 7 ferarsT 82
(a) 1716
(b) 1816
(c) 1713
(d) 1178

Q3. TSTET IeqTaA FU+T § THTAFST & &9 H AqTIHA g
T, HI T FaqraT 747 3 F f&Eferg e #71 arew a| ™
F TorT; FTae, Fo®T 3T qreforas ATsee 1 3: 2: 1 % U
¥ T grm = 1.2 fremumw ares a9 8, a7 39
fofraeT Fewe fRemeT g e

(a) 200g

(b) 300g

(c) 400g

(d) 600g

Q4. ST FTL 7 2020 | 7= AT ATHT @IS ofF, AT THhT
#FHT 5,00,000 F0F ff| BT ATA, TEAT HIHT I ATA 60
FIHT T 4% FH BT AT T 2022 H THHT FIHT (T )
FT g7

(a) 4,80,000

(b) 4,60,800

(c) 4,60,000

(d) 5,60,800

Q5. T Aiex & v # Fhaer et 3T IT+1 g1 39 Fqor #
IR 60% g Ffe g8 eqor § qret &1 gfaera 25% w7
AT &, A7 38 TehadT 3T 37F R gRI?

(a) 3L

(b) 4L

(c) 6L

(d) 7L

Q6.
Ifx+§=%,y+§=::
(a) 1/4

(b) 1/3

(c)1/2

(d1

1 :
and z +§ =7 then the value of x + y + z is:

Q7.

If a and b are positive integers (aand b # 0) such that a® =4913, then (a+h)**14 is aqual to :

(@o
(b) 1
(c) 13
(d) 23

Q8. TF AT F AT HIVI T ATT 1:2:3:4 % FITT | 2
TEH FIE HIT HT AT FT 87

(a) 18°

(b) 20°

(c) 36°

(d) 72°

Q9. 7fX UF FTgFAF & 6 FeA® AT 12 AT 2, a7 39+
ofret it =T AT g

(a) 4

(b) 8

(c) 14

(d) 18

Q10. UF 3rd ABCD ®, AC= (2x +3) &HT 3T BD=(3x—?5)
THT. dT, (2x +09) T TTH FAT RI?

(a) 8

(b) 16

(c) 25

(d) 27

Q11. 39S ABC % FIW B ¥ C & §H{gATS® f6g 0 ¥
gfd=eg Fd gl T «BOC=105° ¢, AT £BAC FXTaX ZII:
(a) 15°

(b) 30°

(c) 45°

(d) 50°
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Q12. 7fT x 3T y HHM: 60° % FHIT % Tk AT TILF g al
(x+y) T AT Tohereh ITaT gRIT?

(a) 120°

(b) 185°

(c) 145°

(d) 150°

Q13. UF HHAIHS HT &=FA FIT gIIT forah fa=wort r
FATS 12 HHY 3T 25 HHT g2

(a) 150 cm*

(b) 100 cm?

(C) 300 le
(d) 75 cm?

Q14. MORE U& HH&F FqH & ror@H MO||RE F AT,
MO = 24 ZHTE TAT RE = 18 THTS g1 TS THATT A HS HT
SAFA 336 A THTS &, IT MO TAT RE & 1= il T F4T 57
(a) 12 =TE
(b) 14 =T
(c) 16 TFTE
(d) 18 =T

Q15. TF FATHIT SURTT AT I FITST F AT & (oraehl
FHT % 0.50 T 397 AT g1 Fie aia 1 9y 8 9T
x 3 Y x 5 FHY B, AT FWT 6T FHd gHf: (a) X 158.00
(b) 2 79.00

() 3316.00
(d) X 790.00

Q16. 9z FT | =AFRYd Je0T 11, 12, 14, 18, x +2, 22,
22,25 3T 61 T AT 21 81 AT 3x +7 FT AT T

(a) 50

(b) 57

(c) 64

(d) 67

Q17.9%AT 3,4, 5, ..., 47 FT TAT-AT =21 92 for@T 17
g (TF T=T 9% U §&qT) 3T g UH 9199 | @7 T47 2
i | F OA7 <& UH T (Hhredl Sdt gl 6 F &g
T ITH T %l ATl 4T 872

(a) 7/44

(b) 7/45

(c) 8/45

(d) 9/44

[TEBXIZ67
The value of ¥ ———"—is
Viad

Q18.

(a) 198
(b) 128
(c) 132
(d) 134

Q19.
T -2
If (?3) —x= G) , then the value of (2x + 5)7lis

(a) 2

(b) 1/2
(c)3/2
(d)2/3

Q20. 7% a = 360 3T b = 900, AT (a =T b T LCM) + (a
#T B #T HCF) &Y g

(a) 5/2

()5

(c) 15

(d) 10

Q21.3f% 6 3= T TEAT 43x82y, 72 & fawrea 8, a7 (2x -
y) FT | FT ZIT?

(a) 8

(b) 10

()12

(d) 14

E T )
Mis equal to

Q22.
(@) 9
(b) 12
(c) 16
(d) 24

Q23. 25(x + y)? - 36(x - 2y)? FT UGS FITT
(a) 7x+ 11y

(b) 17y -x

() 11x+ 7y

(d)11x -y

(x2-4)(x—1)(x+1) is equal to
Q24. (x2—3x+2)(x+2)
(a)x-1
(b) x+2
(ox+1
(d)x-2
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Q25.
If5x — 6 (x + %) = g{x + 1), then what is the value of (5x + 6)?

(a) 3
(b) 4
(c)5
(d)7

Q26. FHeferera furher # R v =77 27

(2x? —3x—2) x (2 —x)

(a) -9
(b) -12
()12
(d) 16

Q27.UF a¥q & fohd qoF 9T 15% HT e o & a1 |l TF
TR T 19% FT ATH AT g1 sitehd g, 7T ToF o
TR srfcrera srfar 22

(a) 30%

(b) 35%

(c) 38%

(d) 40%

Q28. U fuxrfae § ST s 9= 2. F, V 3T E /e
IEF A il G, ot Y HeAr ofiw AT i @ #wir
Zortar &, T (2V - 3F + E) 7T |IT 47 &2

(@3

(b) 4

()5
)6

Q29. TF HHATHS & ATt hl FaTs 24 HHT 3T 70 FH
B THATHS T U SSIT ol AdTS FAT NT?

(a) 28 THT

(b) 35 FHY

(c) 37 &t

(d) 47 Ty

Q30. TF RAHT FgT &7 ATF FHIT IHh AT HIT &
108° SATEF B1 AEHST il ATl T H&AT ZHAT

(a)8

(b) 9

(c) 10

(d) 12

$1. Ans.(d)

Sol. 7g 24 | fAwTsT ¥

n2=(6k)2=36k?

n2 36 & favrer g, sifehm Sredt a1t T 24 & «ft farrsr g
IO % forw, 7fd n=6, n2=36, S 24 & foraTs 721 2|

$2. Ans.(a)

Sol. BFeT 1716 Hat &

3Rl T IANT: 1+7+1+6=15

15,3 9 favsa g e sifqw ar sk 16 8
16, 4 5 faaTsT g

S3. Ans.(c)

Sol. AT & FoT AN 3+2+1=6 AN

T 9T &7 F9=1.2/6 3am=0.2

TR T aor=2x0.2 FFFuT1=0.4 FFUT = 400 ITH

S4. Ans.(b)
Sol. 2021 ¥ Fiw:
2021 ¥ FHa=2020 H FHFax(1-0.04)

2021 ¥ F99=5,00,000x0.96 = 4,80,000 =T%
2022 ® F9q

2022 ¥ Fga=2021 H FTax(1-0.04)

2022 ¥ #Hd=4,80,000x0.96 = 4,60,800 T

$5. Ans.(c)

Sol. STEferes TH=ror § 3%t it gT=T: 3te1=0.60x10 L=6 L
Tty fosqor § 97T Y /AT 9T7=0.40x10 L=4 L

AT o T x e st e @ g

TAT FeA ATAT=(10+x) L

FEA T A2 GTAT: (6+x) L

T T STerd= (T 1 JTAT/FIT T ) x100=25%

= 0.25

10+ x

4=0.25%(10+x)
4=2.5+0.25x
4-2.5=0.25x
1.5=0.25x
X=6L
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$6. Ans.(c)

Sol.

x+§=i,y+§:iﬂndz+i—r=i

Jc+z+j,r+5+z+£=1+i+1
2 2 2 4 4 4

3 3 33

2 2 2 4

x+y+=z=1/2

S7. Ans.(b)
Sol.

af = 4913
(17)% = 4913
a=17andb=3

(174 3)77371% = (20)° = 1

$8. Ans.(c)

Sol. FIST o AT I o ATT = x, 2X, 3x 3T 4x
x + 2x + 3x + 4x = 360°

10x = 360°

x = 36° (TaH FIeT HI)

$9. Ans.(b)

Sol. V-E+F=2
3T F=6 T E=12
6-12+F =2
F=2+6=8

$10. Ans.(c)

Sol. 3T 19T § AC=2x+3 3T BD=3x-5
T2t st serae g

2x+3=3x-5

x=8

2x+9=2(8)+9=16+9=25

$11. Ans.(b)
Sol.

/BOC=90° + %./_BA:::

Given £BOC = 105°

1
105° = 90° + ELBAC

1
15° = ELBAC

£BAC = 30°

$12. Ans.(d)
Sol.

The supplement of an angle 60
x = 180° — 60° = 120"
The complement of an angle 60°
y =90° - 60° = 30°

x+y=120"+ 30° = 150°

$13. Ans.(a)
Sol.

B | =

Area of rhombus == x d,; x d, = % % 12 x 25 = 150 cm?

S$14. Ans.(c)
Sol.

The area of a trapezium = %(ﬂ + b)h

1
336 = (24 +18)h

672 = 42h Type equation here.

h = 16 units

$15. Ans.(b)
Sol. TF FATH FT IS &% = 2(Ib+bh+hl)

$=2(8x3 +8x 5+ 3 x 5) = 2(24+40+15) = 2 x 79 = 158 cm?

ITRTT ATFT Tl T o [oTT ATTTF FHTS 6T AT = 158
x 0.50 =%. 79

$16. Ans.(c)
Sol. FTETHT 53T FAM Z x + 2= 21T x = 19
3x+7=3x19+7=57+7 = 64

$17. Ans.(b)

Sol. FEATSAT it Fef HEAT = 47-3+1 = 45

=H A0 H 6 § [A9TsT Ha® a3t 947 = 42
6 | 42 TF 6 % OIS = 6,12,18,24,30,36,42
T IO 6 HEAT R = 1,2,3,4,5,6,7

number of favorable outcomes 7

total number of outcomes 45

$18. Ans.(c)
Sol. 132
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$19. Ans.(b)
Sol.
(F) ===
3 ' 9
_ 8 16
27 a1
8 16
or, ——=—x X
27 81
a g1
or, —— X — =X
27 16
3
or,x = —-—
2

So, the value of (2x + 5)7!

(x(-2)+ 5) "
(~5+5)

(5 -3)™*
=(2)7*
_1

2

$20. Ans.(d)
Sol.

LCM ofaand b= 1800

HCFofaandb =180

(LCM of a and b) + (HCF of a and b)

S0,

1800

— =10
180

S$21. Ans.(a)

Sol.

According to the question, 43x82y is divisible by 72

Or, 82y is divisible by 8
Or,y=4

Sum ofthe digits=4+3+x+8+2+4=21+x

Now, 21 + x is divisible by 9

S0, x=6

Therefore, (2x-y)=2x6-4=8

$22. Ans.(c)
Sol.

6" . &) o5
3) =)

$23. Ans.(b)
Sol. 17y - x

=16

S$24. Ans.(c)
Sol.
(x%—4)(x-1)(x+1)
(x2—3x+2)(x+2)

$25. Ans.(b)

5x+6=5x—§+6= —2+6=4

$26. Ans.(b)
9 .
(25{2 —3:!:——) K(i—x)
Sol. 3T T ® X
S gx3 —HE | gy —E 4=
X X X X

=14x—2x3—21+3x2—2—2+9
=14x—2x3+3x2—2—2—12
e ag -12 3

$27. Ans.(d)

Sol.

MP  100+p% MP 119
P 100-D% _ 'CcP 85
Let, MP = 7x

So,CP=5x

Here, Article is sold at MP
So,5FP=7Tx

Profit=7x - bx = 2x

P% = 40%

7
3

$28. Ans.(b)

Sol. T=H T e arer ot § e oot 21 &

o 1 FEh 0N Seme (S 5 ey o 5 ofid 2 ),

o 5 i wesF, TEER F T4 9 & oy U, offd
(Forfore = off) & = 29 2

HART Hl T AT F=1+5=6

oftot =t o1 HEAT: V=5+1=6

R Y o §=AT: E=5+5=10

2V-3F+E=2(6)-3(6)+10 = 12-18+10 = 4
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$29. Ans.(c) $30. Ans.(c)

Sol. Sol. T A=A Sger 1 siafis 1T ITF T FIT T
According to the question, S = @ = 2—4 =37 108° A& F1 AEHST il ATl &l AT 10§
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